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import pyfmi

# load model as FMU

model = pyfmi.load_fmu("example_model.fmu") ACCEptOFS !

# define simulation settings Ax%_ > |
stop_t = 24*60*60 -tvpe ° ® -

step_size = 60 p yp &—/Ferml or D N A T

# set model parameters and input start values o @@ n- type level
model.set(["Par1","Input1"],[2010, 0.001]) N
# initialize model

model.initialize()

I e start simulation loop-------------- Donors
L 0

while 1 < stop_t :

# perform simulation step xm - .
status = model.do_step(i, step_size) Z £ £
if status == pvfni fmi.FMI_OK:
# get output valu h{0} h{1) h(2) hi{4)
act_T = d 1l.get( Storage.T") — — —
# optimization of volume ﬂow
b_new = Opti(act_T,...) n n

# set new inpu t values
modcl.sct(”volJvc’low_iccitoragc‘, v_new)
Ll =1 + step_size
else:

&
@

print
break
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